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POLITICAL SCIENCE
PAPER - II
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Yu3-II

Note :This paper contains FIFTY (50) multiple-choice assertion/reasoning/
matching questions, each question carries TWO (2) marks. Attempt All

questions.
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1. Which one among the following

statements is correct ?

(A) Platonic justice is a legal

concept.

(B) Platonic justice is premised on

the classification of souls.

{C) Platonic justice meant paying
one’s debts to God and men,
both in word and deed.

(D) Platonic justice consists in
conformity to the laws and
institutions laid down by the
sov.ereign for his benefit and
enforced by his power.

2. John Locke’s view on state of

nature is :
(A) Pre-social
(B) Pre-political
(C) Pre-social and pre-political
D) | Social and political
Pol. Sci.—Ii
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Which one of the following is

advocated by Thomas Hobbes ?

{(A) A contractarian basis of a
liberal state.

(B) A divine basis of a liberal
state.

(C) A contractarian basis of an

absolutist state.

(D) A contractarian basis_ of a
democratic state.

Which one of the following is not
a work written by Plato ?

(A) Rival Lovers
(B) Categories
(C) Epigrams
(D) Symﬁosium

Karl Marx does not advocate which
of the following ?

(A) Human

determines social existence.

(B) Ideas are the reflections of the |

interplay of material forces.

(C) The base determines the
superstructure.

(D) Capitalism is an essentially
exploitative mode of
production.
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Gandhi’s Satyavir Ki Katha is the
Gujarati translation of which of the

following ?

(A) War and Peace

(B) The ’Story of a Truth Tellér
(C) Civil Disobedience

(D) Apology

Who advocated the principles of
| “non-antagonistic contradictions” in
a _sociglist society ?

(A) Antonio Gramsci

(B) Mao Tse-Tung

(C) V. Lenin

(D) Karl Marx
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8. Match List-I with List-II and select

the correct answer from the codes

given below :

List-I {(Authors)

(@) Quentin Skinner

(b) Judith Butler

{c) Giovanni Sartori

(d) Charles Taylor

Codes :

(a)
(A) @)
B) @
€ G

D) )
Pol. Sci.-IT
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(@)

®

List-1I (Books)
@) The M@@e
Animal
(i) The Founda-
tions of Modern
Political Thought
(iii)) Parting Ways

(iv) Democratic

Theory
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Given below are two statements,
one labelled Assertion {A) and the
other labelled as Reason (R). Select
the correct answer from the codes

given below :
Assertion (A) :

For Rousseau a thinking man is a

depraved animal.
Reason (R) :
Common emotions give value to life.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A}

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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10.

11.

(@)

®)

(c)

(d)

Who said “Taxation ... is on a par

with forced labour” ?
(A) J(;hn Rawls
(B) Friedrich Hayek
(C) Robert Nozick
(D) Ronald Dworkin

Match List-I with List-1I and select

the correct answer from the codes

given below :
List-I (Schools) List-I1
(Proponents)
Structural School () Daniel Lerner
Normative School (@) G.A. Almond
Technological School (i) M.K. Gandhi
Political Communi- (iv) .David Apter
cation School

Codes :

@ ® @© @

(A) @) @) G 6
BY G @ G @)
©€) ) @ @& @)
D) Gy @ G G
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12. Which of the following, according to

13.

Lucien Pye, are the crises of political

development ?

(@) Crisis of Identity
(b) . Crisis of Legitimacy
(¢) Crisis of Leadership
(d) Crisis of Integrity

Select the correct answer from the

codes given below. :

Codes :

{A) (a), &)

(B) ®), (©
©) (©, @
D) {(a), (d)

Michel’s principle of ‘Iron Law of
Oligarchy’ is derived from a study

of which of the following parties ?
(A) Labour Party

(B) Christian Democratic Party
(C) French Communist Party

(D) Socialist Democratic Party
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14.

15.

According to Edward Shils, the
political development of a country

should be measured on the basis of :

- (A) Political institutions

(B) Interliatiohal status
(C) Economic development

(D) Social and economic

development

Which one of the following has tried  15.

to give an essentially engineering

orientation to human behaviour ?
(A) Marxist approach

(B) Structural-functional approach
(C) Communication theory

(D) Behavioural approach
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16.

{a)

(b)

(e)

(d)

Match List-I with List-II and select

the correct answer from the codes

given below :

List-I

Both Houses have (i)

equal powers

Upper House is

more powerful

than the Lower

House

Lower House is

more powerful

than Upper House
National Assembly (iv)

can overthrow the

government
Codes :

@ ()

(A) G @)

B) (@) O
© ) @

D) @) v
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America

) . India

France

Switzerland

(d)
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@)

16.
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17. Which of the following is/are the 17 {A-uuidl 5§ custaorodi el

t t th
common feature(s) between the AFAY Rl AHA AAR 54 TS

Indian political system and the US _ N
| Al AL daejasaRl 87
political system ? '

_ (@ AN AL 3w WA 9.
(@) Residuary powers belong to the

Centre. | (6) AN AL AAY WA B,
(b} Residuary powers are with the ’(c-) UYL Wi Uide fadl wdl
state.
8.

{c) Presidents have the power of
(d) Gual s WA Jeaus (ARl Aol

pocket veto.
(d) Upper Houses have some - -

nominated members. A2 e SisHidl W2 vl wis
Select 1I:he correct answer from the 53 ¢
codes given below :

5iS :

Codes :
(A) (@) ¥n (b)
(A) () and (b) |

(B) (&) ¥ (c).
(B) (5) and (¢) |
(C) (d) only | _ (C) WA (d)

(D) (c) only _ D) WA (¢)
Pol. Sci.-II 12 '



18. Which of the following are true of 18  J{l3«qujel] 33 R[5 }lﬁlﬂ&[&-{l

the American Presidential system of ) . o
ARSI Aseinl Wy 67

- government ?

L ICACER ] 1
(@) President is both Head of the (a) 304uL 3 AU AU AR oL

State and Head of the qSL 6,

Government R
(6) 3 Adidl 2ure gqdaelll s

(b) It is based on strict separation 3

of powers.

Wyl slerll Yed Rud 8.
() President’s term of office is (c) Y YE £

fized. (@) R Wy A9 AR FaUselR

(d) Secretaries are responsible to Sy 0.

the President as well as to the
A3 2dal sisHil Rl Lot Wie

Senate.
53 ¢
Select the correct answer from the
codes given below : £ :

Codes : (A) B), () ¥ ()

(A) (B), (¢) and (d)
' (B) (a), () ¥ (¢

(B) (a), (b} and (¢)

©) (@), (d) ¥ (©)
(C) (a), (d) and (¢)

D) (@), ) and @) D) (a), ) ¥ (d)
Pol. Sci.-11 13 : [P.T.O.]



19. Who among the following has
argued that modernization could
be associated with a highly
differentiated political structure
and the diffusion of political power
and authority into all spheres of
society ?

(A) Max Weber

(B) Talcott Parsons
(C) S.N. Eisenstadt
(D) Walt W. Rostow

20. Match List-I with List-IT and select

 the correct answer from the codes
given below :

List-I (Books) List-1I
(Authors)

(@ The Politics of () Amartya Sen
Modernization

) Development as (@} Samuel P,
Freedom Huntington

{¢) Political Order in (i) Celso Furtado
Changing Societies -

(d) Development and (iv) David Apter -
Underdevelopment
Codes :

@ B © (@

A ) @ G D)

B @ @) @G G

C) @) Gv) & (1)

Dy & & @ (v
Pol. Sci.-I1
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21. Which one of the following

22.

.child

statements is incorrect with

regard to the Rights in the Indian

Constitution ?

(A) Right to vote is a Fundamental
Right.
(B) Right to Information is a Legal

Right.

(C) Right against exploitation is a

Fundamental Right.

(D) Right to property is not a

Fundamental Right.

Under what age does Article 24 of
the Indian Constitution prohibit

labour in hazardous
émployment :
(A) 12 years:
(B) 14 years
(C) 15 years

(D) 16 years

Pol. Sc1.-11
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23. Who of the following gave the

24.

idea of ‘Saintly Idiom’ in Indian

Politics ?

(A) Jayaprakash. Narayan
(B) Paul Brass

(C) W.H. Morris-Jones
D) Jarngs Manor

Reginald Coopland says that four
Indian States were better governed
than British India. Which were
they ?

(A) Baroda, Travancore, Mysore,

Cochin

(B) Hyderabad, Baroda, Junagadh,

Gwalior

(C) Baroda, Jaipur, Hyderabad,

Mysore

(D) Travancore, Junagadh,

Gwalior, Baroda

Pol. Se1.-I1
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25. Assertion (A) :

India is a Constitutional,

Parliamentary democracy.
Reason (R) :

All powers are vested in the Couxicil
of Ministers headed by the Prime
Minister.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct
explanation of (A)-
(C) (A) 18 true but (R) is falsg

(D) (A) is false but (R) is true

Pol. Sci.-11
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26.

(@)

b)
()

(d)

27.

Match List-I with List-II and select
the correct answer from the codes

given below :

List-I List-II
Erlnergence- of (1) 1917
Muslim League
Lucknow Pact (2) 1906
Motilal Nehru (3) 1916
Report
Champaran (4) 1928
Satyagraha |
Codes ;

(@ & @ (@

Aa @ @ @ @
B @ @ @ O
€ @ @ @1 @
D O G @ @ _
Which one of the following
Presidents remarked that

Presidential position and power
should be clearly defined ?

(A) Zakir Hussain

(B) Rajendra Prasad
(C) K.R. Narayanan
(D) R. Venkatraman

Pol. Sci.-1I
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28.

(@)

®

()

@

Match List-] with List-II and select

the correct answer from the codes

given below :

List-1 (Authors)

Pol. Sci.-11

List-II (Books)

Sudipta Kaviraj () The Concept of
Fundamentalism

Partha Chatterjee (i) fhe Invention
of Private Life

Akeel Bilgrami (i) A Princely
Imposter

Bhikhu Parekh (iv) Gandhis
Integrity

Codes P |

@ & © @

@ G @ G )

® G O G @

© @ G @ O

O Go) @ @ G
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- 29,

30.

- proclamation

The 1963 Kamraj Plan was initiated

by Nehru :

(A) To attract the youth to the
party.

(B) To plan and execute succession
procedure in the party.

(C) To strengthen the Congress
party organisation,

(D) To bring gender parity in the
party.

The President can make a

of Financial

Emergency under Article 360 :

(A) For the whole of India or any

part of India.

(B) For the whole of India except

Jammu anc_l Kashmir.

(C) For the whole of India except

Nagaland and Manipur.

(D) For the whole of India except

Nagaland and Mizoram

Pol. Sci.-II
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29.

30.

Q53 «dl SMAUY @l A8 54l

dd w2 % sl edi?
(A) yaurid uasl susdlal |

(B) waii Gurufasddl wlkud

BUALYA 27 UMY sl M2

(C) 513 varil AL 1oty Sl

e

D) waHl QA Au-dl gl

e

UUYY, oAl sud 350 Yol

gy 5358 Mer 53 Wk O -

(A) UM SUIA HI2 AU Mldel

sidveL ool q12

(B) %%y 24 519912 RanL ond-

oYl MU ML

(C) WIE-S A HRY [Raa-u

GULRdHL B8l UL IR

D) 2UA~S A Pl Rasl

MLl oYL MU L2



31. Arrange the following committees

32.

in chronological order and choose
the correct answer from the codes

given below :

(@) Kripalani Committee
(b) Sanathanam Committee
(¢) Tek Chand Committee
(d) Vivian Bése Committee
Codes :

(A) (), @), (a), (b)

(B) (a), (@), (c), (b}

(C) @), (a), (), (b)

D) (o), (@), (d), (b)

Who of the following said that “A
theory of Public Administration in
our times also means a theory of

politics” ?

(A) Wallace Sayre

(B) Frank J. Goodnow
(C) Dwight Waldo

(D) John Gaus

Pol. Sci.-1I
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32.

A A e sisuid]l WAl wao

Wi S

(@ Bueusl ¥
by w-wy AR

© 25 dt ARRQ

@) RRA- ol AR

8\S :

. (A) (o), (d), (@), (b)

(B) (a), (@), (), &)
(C) (@), (@), (c), (&)

(D) (e), (@), (@), (b)

Aol S AY 58 ed 3 AR

axanl Az adlaedl Rgid A%

SR Rigid edl’’?
(A) 4ldA AW
(B) 35 %. 9S-id

(C) sase alest

(D) w8l AR
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33. Which one of the following

34.

35.

principles of organisation

was enunciated by Mooney and
Reiley ?

(A) Scalar Principle
(B} Functional Principle
(C) Staff Line Principle
(D) All of the above

The
administration is also known as :

classical theory of

(A) Locational Theory

(B) Historical Theory

(C) Mechanistic Theory

(D) Human Relations Theory

The theory of “Prismatic Society” is
based on :

(A) Historical studies of Public
Administration in different
societies.

(B) Study of public services in
developed and developing

countries,

(C) Institutional comparison of
public administration in

development countries.

D)

Structural-functional analysis
of public administration in
developing countries.

Pol. Sci.-I1

33.

35.

Al sul Qs Rigid 3R
A 34 A wRAWRA 54l sdl?

(A) Balx [Rgia
(B) s-sud Rgid
(O) 218 212 g4 Rgid

D) Gy o4l %

adlael wafla Rigid {lA-uuidl
oflog S UN Rl diamiy 97

(A) 2 Rgid

(B) vQsiRs Rigid

(C) uilAs ﬁ{ﬁid.

(D) Hidly iviiAl Risia
s adl’ -l eid
Auuiall 56 euoid GU U 97

A) QY A Ans adlaeit
ARSI e

@) [Asfd 21 Asulla 2aiMi

AlsAABAL vieuy

©) Rsfud sl 28 adlae-l
daudly wvunell-l vea
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36. Negative motivation is based on :

37.

38.

(A) Anxiety
(B) Threat
(C) Money
(D) Fear

Herbert Simon was positively
influenced by the ideas of :

(A) L.D. White

(B) Chester Bernard
(C) Henry Fayol
(D) All of the above
Assertion (A) :

Classical theory of organisation is
based on formal principles.

Reason (R) :

Classicists lacked behavioural

‘analysis.

Select the correct answer from the
codes given below :

Codes :

(A) (A) and (R) are correct and (R)
explains (A)

(B) (A) and (R) are correct but (R)
does not explain (A}

(©) (A) is true but (R) is false
D) (A) is .false but (R) is true

Pol. Sei.-11
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36.

31.

38.

S{;Rlﬁi& AN A B vuslRd

A) R
(B) ausl
(C) -usd
D) 82

gol2 YU ss1lcns Ad siAl
Raidl weuldd a ed?

(A) 4.8l e
(B) A3 oisils
(C) 83 Fula
(D) Gu- o4l ¥
§3 5% (A) @

Aotseirtl welly Rigid [@RAIU
Rigial/RuAl 6y sualRd 8.

5% (R)

sty Rugidaiglainl adatel
Yass@Hl oeud sl

WAt siSHIY WAL waleL WRiE 53U

Is‘ls :

(A) (A) 17 (R) aat 8 a4 (R) +l
Wwygla (A) &

(B) (A) ®A (R) WAl & 4id (R) ¥
(A) I Wwgla 4l

(O) (A) W B wig B) ¥ig B

(D) (A) Wig ® 4ig (R) w3 8
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39. What is the methodology adopted/ 3% sole wuud gt 5% ugla
' duAlaaMi/ulaulea srami sudl

wdl?

(A) oild alEsd

propounded by Herbert Simon ?
(A) Bounded Rationality

(B) Satisficing (B) AcIMSL Sell

(C) Decision-making () (Rely Qaidl uBul

(D) All of the above D) GURAL GEL o

40. Who among the following thinkers 40, «{13-1 Rasividl sw @Aas adlaz

rejected the principles of Rigldid yaiasar A sdadl a3

administration . as myths and
y s3] dal sar?

proverbs 7

(A) eole R+
(A) Herbert Simon

(B) W.F. Willoughby (B) suey A5, [Qdioll

(C) L.D. White (C) Ad.sl. wide

(D). Chester Bernard (D) A2 oqls

41. Whose name is associated with  41. uaidaie-l Béla Qe A3 sid

British School of Realism ? AN Asidyg w7
(A) Hedley Buil (A). ssdl 9d
(B) Hans Morgenthau | (B) d¥ ‘-flOT'?_l,
(C) Robert Kaplan | ©) N s
(D) Joseph Nye D) AAs U

Pol. Sci.-II ' 24



42. Match List-I with List-II and select

(a)

®)

(e

@)

43.

Pol. Sci.-II

the correct answer from the codes

given below :

List-I (Authors) List-II1 (Books)

Hans Morgenthau (1) Frames of War

Cynthia Enloe (2) Politics Among

Nation

E.H. Carr 3) Twenty Years’

Crisis
Judith Butler {(4) Bananas, Beaches
and Bases

Select the correct answer from the
codes given below :

Codes : |

@ ® @ (d) _'
@a@ @ @& & @
(B) 3) (2)_ ORI CY)
o v @ W @
O @4 1O 2 G

Indian troops, military observers
and civil police personnel served in
UNO Peace Keeping operation in :

-{A) Western Sahara

(B) Bosnia

(C) Herzegovina

(D) All of the above

42.

@

{b)

©
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(d)
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sf P20 Al »udl edl?
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(B) oiiR-ul
(©) sadolifa-u
(D) QU o4l %
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44,

45.

46.

Who authored the book, The

Imperatives of Non-alignment ?
(A) AP. Rana

(B) Ramesh Babu

(C) M.S. Rajan

(D) Kanti ﬁajpai

Oslo-I accord is associated with :
(A) Indonesia—FEast Timor Conflict
(B) Afghanistan

(C) LTTE—Sri Lanka Conflict
(D) Israel—Palestine Conflict

‘The axis of evil’ is a phrase
deliberately used by President
George W. Bush in January 2002

to characterise :

(A) Iran, North Korea and Iraq
(B.) Taliban, Al Queda and LeT
(C) Cuba, Venezuela, Nicaraguﬁ

(D) Pakistan, Afghanistan, Sri
Lanka

Pol. Sci.-IT
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47. The functionalist approach of

49.

50.

Integration' in International

Relations is associated with :
(A) Karl Deutsch

(B) Ernst Haus

(C) K.G. Holsti

(D) Immanuel Wallerstein

“Democratic Peace Theory” is

associated with :
(A) Immanuel Kant
(B) J.G. Fichte

(C) David Hume
(D) Voltaire

The modern sovereign state system

originates from the :

(A) Treaty of Versailles (1919)
(B) Treaty of Westphalia (1648)
(C) Treaty of Rome (1957)

(D) The Congress of Berlin (1878)
Who advocated the policy of genuine

non-alignment ?

(A) A.B. Vajpayee
(B) LK. Gujral ,

(C) Jawaharlal Nehru
(D) Narasimha Rao

Pol. Sci.-I1
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47.

49.

50.
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sidsiRell 2R s+l AS Asoude
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@A) sd sy
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ROUGH WORK
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